

Dear Hiring Manager,

I am writing to express my interest in the Full Stack Core Developer and/or related position at your company. With over two decades of international experience in IT and product design; I offer a versatile skill set and a proven record of managing complex projects from concept to completion.

My professional background spans secure software development, IT team leadership, and cross-functional product design. I am highly skilled in PHP, JavaScript, Python, and all major engineering and creative tools. I excel in multi-national settings and am fluent in English with intermediate German (B1).

I am motivated to bring my expertise and drive to your innovative team.

I am fully available for remote, office or hybrid work environment. The job can be full time, part time, overtime, or temporary. My only objective is to contribute to your growth and innovation using my experience and creativity.

A little about my background:

- During the Covid pandemic, I attended online classes and successfully passed exams as an Informatik Engineer student in Berlin.

- I earned a 100% University President Scholarship from a private university in Los Angeles – an honor extended to only one student – and graduated with a 3.89 GPA out of 4, earning a Bachelor of Science Degree in Computer Information Systems. (Transcript attached)

My priorities are not financial gain; I am searching for opportunities to use my creativity and skills to drive successful projects, help your team reach new heights, and solve meaningful problems.

I am available to work project based, temporary, part time, full time and over time, including weekends and holidays, and I am fully flexible with regards to salary, benefits, and scheduling.

If you have any further questions or need more details, please do not hesitate to contact me or Mr. Scott Holmquist. (Contact information attached)

It would be a privilege and honor to work with you. I am eager to contribute to your team, and I truly appreciate your consideration.

Kind regards,
André Lebois

andrelebois.com
andre@andrelebois.com
WhatsApp: +49 163 7033 782
Telegram: @lebois
Signal & Wire: lebois.01
Kreuzberg, Berlin, Germany



PROFILE

Dynamic Full Stack Core Developer with over 20 years of international experience in software engineering and IT management.

Expertise in delivering end-to-end solutions for complex engineering projects, building secure software products, and managing cross-functional teams.

Fluent in English and proficient in German (B1).

KEY SKILLS

Full Stack Development: PHP, SQL, MySQL, JavaScript, Ajax, jQuery, HTML, CSS, Python, Rust

Software & Database Security, Web Applications, Custom Systems

Audio, Image & Video Production; Editing and Subtitling

Product Design, Illustrator, Photoshop, InDesign, Excel

IT Project & Team Management, International Communications

Penetration Testing, Mobile Development, Network & Server Administration

EDUCATION

Pacific States University, Los Angeles, CA - Bachelor of Science, Computer Information Systems (Transcript attached)

PROFESSIONAL EXPERIENCE

IT Manager / Software Engineer
Berlin, Germany | 2015 – Present

- Developed and maintained secure websites, databases, and custom software for accounting, sales, communications, training, and online publishing.
- Led network, server, and security operations; conducted penetration testing and ensured compliance.
- Managed audio, image, and video production for business needs.

IT & Contact Manager / Software Engineer – Tourism & Import-Export
Los Angeles, CA | 2010 – 2015

- Designed and implemented web and software systems for booking, accounting, logistics, and inter-office communications; supported teams across continents.
- Oversaw digital transformations for international tourism and import-export firms.

Mechanical Engineer – HVAC-R Specialist
New York City, NY | 2006 – 2010

- Engineered, installed, and maintained custom air-conditioning units in marine, automotive, and building applications.
- Led product design and software development for HVAC and refrigeration systems, including remote monitoring solutions.

LANGUAGES

English: Fluent

German: B1

ADDITIONAL INFORMATION

No work schedule restrictions; open to work nights, weekends and holidays; open to remote, hybrid, and on-site opportunities

References and portfolio available upon request

If you have any questions, please do not hesitate to contact me or Mr. Scott Holmquist

REFERENCE:

Scott Holmquist

scott.holmquist@gmail.com
+49 (0) 176 813 69 782

info@scottholmquist.com
scottholmquist.com

Scott Holmquist Studio
Kiefholzstr 19/20
12435 Berlin
Germany

c/o Bug Press 1461 M St
Arcata, CA 95521 USA



Pacific States University

Official Transcript

3530 Wilshire Blvd. Suite 1110, Los Angeles, CA 90010

Phone: 323-731-2383

RECORD OF: LEBOIS, ANDRE

STUDENT ID: P0000022374

BIRTHDATE: Oct 17, 1984

ENROLLED DATE: Apr 5, 2010

ISSUED DATE: Jul 17, 2025

PAGE 1 OF 3

Program: Bachelor of Computer Information Systems (CIS)

2010 Spring Quarter - 04/05/2010 - 06/21/2010

Course #	Name	Attempted	Earned	Grade	Points
BU225	Business Graphics	4.00	4.00	A	16.00
EC202	Macroeconomics	4.00	4.00	A	16.00
IS100	Introduction to Computer Information Systems	4.00	4.00	A	16.00
PS135	United States Government	4.00	4.00	A	16.00
Totals		16.00	16.00	Term GPA: 4.00	Cum. GPA: 4.00

2010 Summer Quarter - 07/06/2010 - 09/20/2010

Course #	Name	Attempted	Earned	Grade	Points
CS110	Computer Programming 1	4.00	4.00	A	16.00
CS200	Programming Language Structures	4.00	4.00	A	16.00
IS230	Introduction to e-Commerce	4.00	4.00	A	16.00
PL130	Introduction to Philosophy	4.00	4.00	A	16.00
Totals		16.00	16.00	Term GPA: 4.00	Cum. GPA: 4.00

2010 Fall Quarter - 10/04/2010 - 12/19/2010

Course #	Name	Attempted	Earned	Grade	Points
CS420	Theory of Computation	4.00	4.00	A	16.00
EN250	World Literature	4.00	4.00	A	16.00
MA231	Calculus 1	4.00	4.00	A	16.00
PY210	Introduction to Psychology	4.00	4.00	A	16.00
Totals		16.00	16.00	Term GPA: 4.00	Cum. GPA: 4.00

2011 Winter Quarter - 01/04/2011 - 03/21/2011

Course #	Name	Attempted	Earned	Grade	Points
IS250	Database Management	4.00	4.00	A	16.00
MA232	Calculus 2	4.00	4.00	A	16.00
PL330	Comparative Systems of Thought	4.00	4.00	A	16.00
SS140	Introduction to Sociology	4.00	4.00	A	16.00
Totals		16.00	16.00	Term GPA: 4.00	Cum. GPA: 4.00

2011 Spring Quarter - 04/04/2011 - 06/19/2011

Course #	Name	Attempted	Earned	Grade	Points
EN200	Composition	4.00	4.00	B	12.00
EN210	Communication Arts	4.00	4.00	A	16.00
IS310	Computer Networks	4.00	4.00	A	16.00
MA311	Calculus 3	4.00	4.00	B	12.00
Totals		16.00	16.00	Term GPA: 3.50	Cum. GPA: 3.90



Pacific States University

Official Transcript

3530 Wilshire Blvd. Suite 1110, Los Angeles, CA 90010

Phone: 323-731-2383

RECORD OF: LEBOIS, ANDRE

STUDENT ID: P0000022374

BIRTHDATE: Oct 17, 1984

ENROLLED DATE: Apr 5, 2010

ISSUED DATE: Jul 17, 2025

PAGE 2 OF 3

2011 Summer Quarter - 07/05/2011 - 09/18/2011

Course #	Name	Attempted	Earned	Grade	Points
AC102A	General Accounting 1	4.00	4.00	B	12.00
EN220	Research Methods and Bibliography	4.00	4.00	A	16.00
HS300	Western Civilization	4.00	4.00	A	16.00
PY330	Personal Dynamics and Leadership	4.00	4.00	A	16.00
Totals		16.00	16.00	Term GPA: 3.75	Cum. GPA: 3.88

2011 Fall Quarter - 10/03/2011 - 12/18/2011

Course #	Name	Attempted	Earned	Grade	Points
BU250	Small Business Management	4.00	4.00	A	16.00
CS300	Computer Data Structures	4.00	4.00	A	16.00
CS400	Computer System Architecture	4.00	4.00	A	16.00
CS460	Applied Numerical Methods	4.00	4.00	A	16.00
Totals		16.00	16.00	Term GPA: 4.00	Cum. GPA: 3.89

2012 Winter Quarter - 01/02/2012 - 03/18/2012

Course #	Name	Attempted	Earned	Grade	Points
BI101	General Biology	4.00	4.00	A	16.00
IS345	Internet Programming 1	4.00	4.00	A	16.00
IS400	e-Commerce Marketing	4.00	4.00	A	16.00
Totals		12.00	12.00	Term GPA: 4.00	Cum. GPA: 3.90

2012 Spring Quarter - 04/02/2012 - 06/17/2012

Course #	Name	Attempted	Earned	Grade	Points
CS383	PASCAL Programming	4.00	4.00	A	16.00
EN260	American Literature	4.00	4.00	B	12.00
ES101	Earth Sciences	4.00	4.00	A	16.00
IS445	Internet Programming 2	4.00	4.00	A	16.00
Totals		16.00	16.00	Term GPA: 3.75	Cum. GPA: 3.89

2012 Summer Quarter - 07/02/2012 - 09/16/2012

Course #	Name	Attempted	Earned	Grade	Points
CS120	Computer Programming 2	4.00	4.00	A	16.00
CS450	System Development and Analysis	4.00	4.00	A	16.00
EN401	Technical Writing	4.00	4.00	A	16.00
Totals		12.00	12.00	Term GPA: 4.00	Cum. GPA: 3.89



Pacific States University

Official Transcript

3530 Wilshire Blvd. Suite 1110, Los Angeles, CA 90010

Phone: 323-731-2383

RECORD OF: LEBOIS, ANDRE

STUDENT ID: P0000022374

BIRTHDATE: Oct 17, 1984

ENROLLED DATE: Apr 5, 2010

ISSUED DATE: Jul 17, 2025

PAGE 3 OF 3

Cumulative

	Attempted Credits	Earned Credits	Points	GPA
Resident	152.00	152.00	592.00	3.89
Transfer	0.00	0.00	0.00	0.00
Overall	152.00	152.00	592.00	3.89

Degree: Bachelor of Science (BS)



[babylonia]

b a b y l o n i a e . v .

sprachen | kultur | veranstaltungen
Cuvrystr. 23a
10997 Berlin
tel. +49 30 6116089
fax +49 3212-6116089
info@babylonia.de
www.babylonia.de

Bescheinigung

09.07.2025

Sehr geehrte Damen und Herren,

hiermit bestätigen wir dass

André Lebois, geboren am 17.10.1984,

in unserer Einrichtung an einem Integrationskurs, teilgenommen hat.

Er war Teilnehmer unseres Stipendienprogramms.

Er hat im Juli 2018 mit dem Modul A1.1 begonnen, im Anschluss hat er erfolgreich folgende Module besucht; A1.2, A2.1, A2.1, A2.2, B1.1 und im Februar 2019 B1.2,

im März/April 2019 hat er am Orientierungskurs teilgenommen.

A. Lebois war ein sehr aktiver und pünktlicher Teilnehmer des Kurses .

Bei Fragen stehe ich ihnen gern zur Verfügung.

Mit freundlichen Grüßen

Tina Kiel

Verwaltung der Integrationskurse

